| =
I <L

—
i

|

(Er,}. ECI!I.-) EE 24d A‘(L’ﬂuﬁ # 1 Solution

ﬂ) Tf[i'g’_l"[q} £ 5;{4.15’322'
T 74 ?-{-H— f
b) TE = @ + &y 5

el s 4ﬂ1+3‘+11 — Jee =B 1L

tf_l'b "F; g e F=E fios
o - L e oo g
e 5 Je gty 6 S L./-E 7+
— —t .
"“-H.I'_::l.lllﬂl.'ul" Pfrjff‘{”—i‘m D}: T B A E;, Ll
— —
.'il = di— (2 -1".;%- :_E
T S 'u"_ & .,’.{_E 1."-?
— —r
N & =L =L - 2a- g 2
) i i + L + ) F 2
e arn A
— r;.-:.l_llrjhr Ff’ﬂjf‘r_{fbm ﬂ{- E_:_ 2 Ir T
——
g 8 g
S Zz‘r F * &
) —
H".Jlﬂc‘i:ﬂ‘r" Ffﬂjﬂ&t.ﬁm .;:P ¢1*~.T L3
gl —_— o = —
= = L g A =ty
frfp ﬂT G{T' = G{'T 3 R 5 i
— —f

) e R cos &

R I O ?{ﬁ} cosE
_? :‘F‘J_Ej cp5 6

o) = T

J6
o = 11409

/o



e o
Efg.

EL) ,4 (EJF;;SJZ—"?‘&_:+3%—':I;
=
Alz,—1,3) = lul/lr."'é'f'cj'-l'- g = [0.29¢
B ’51 (2;71,3) = A2h3) | 43, +ad, —ad;
e e
10.29&
— » — s A = it
R o G ﬂf} (2; f_,S):{?.gﬂf# (—‘fﬂ'xq'-ﬁﬂj-—?ﬂj)
— 2#?‘; a;—F'.c;BE {:1_; _473'?(; :’_I_p
—_— =
) _f: = S £

_—Q o b ai:-éaz%rﬁ‘.ﬁéﬁ;)
—|—(EE: “a 'ﬂj + 35;)

S f:"f?éi-i‘; +-ﬁ-58153—f.??£;
z

l.22

3 Cri

JuN = |
ﬂ)[ﬁ {"'IJE,.' .3’ = ‘:{FJEJEI)Z\JEE e T e = !;.Hﬁlj

F{;EEJ = —rs -
E){I s diid) = ga, — 49y +6d,

F(t,2,3) x..f'—?r?_—
R e
:ﬂ.}.ﬁ?ﬁp—ﬂ-Sﬁgﬂj -:'-*5":35‘:3-"-1':1t
—s
E(]JEJS}_{:I.F(I 3) iz, +aj+£ﬂ )
(ﬂ-lé}ﬂr =gl 535&:*‘:‘?5“}')

_ 5, 534—0.535+ & g2 = 42l

b ol - o (e I A 2 L F o r ent = 4, T



"-..-"-::c{‘ﬂ-r’ -Lmrungw,{' ,;',r:. .

- ==l =i =

4.81 d_ (1, 2,3) = i288 d = E-G;Ze?faj + 3858 a,
—t» -

Ly
QJE(”:H—S}:Q:J 3'11%

F(ﬂ)}.l _3):-—%

= —t
E{ﬂjlj'—j)xf:‘(ﬂjli'—j) ='_‘3‘ﬂ-x
——
RLF'!U.;H'TJL_ VEL'L_E"I"' ::l:':[ﬁ
o |
o) E’b = i :‘}5;
FD’P ] sy BiaF Al sin {:—Hi”
I' ﬂq‘-* = ,EFnﬂP ans.#* e JL_}; - £d:'£.q5 f:ﬁ#-&)
_.ﬂi_j 0 & . | J ) 3
.{Fotr_',..5.¢ +2) sings | J
= {me&q‘:—[— z) cos (qumng‘#_“{ )
L]
: D H-EI]"}Q 'iﬂ-E#: S g Sm?g T b B \
r
casf Smch —8mE
DE = _casé tn,gql‘ D}r
‘Dd:' -"E.I'hr:l,él .:ggq!; & -J .




I

EJ ke E;HC;B || [x+£) ain® Smdg
"D} tos® Sing =
Dy ¢os8¢
(x+2)
) =

(x+2) co58 s

col g j

(r 2ind cosgh +r ot @) Sn & sinch

4/%

ILT'E‘-HE {ﬂjt#] -|-r'-r‘_'rj-.5'9') ':"_E-EE' ._’_‘:n'-i'"l:d) (‘SIFLEI"ECD{E)

KFEI'HE r:x_nsg,ﬁ -,f'r'-’:c:SEl) i.ﬂéc;ﬁ

|

ok

i {jl?ﬂ al#q[qoﬁ_D )

ca &P o
a |
osb + E Sin
sing + Ey cos P
=

.ﬂ"?' m:.-gLn:?g —

rf" ﬁismgﬁ’» {/3 cas q{:)caﬁ?ﬁ—lf/o E-‘”"Fg Eﬂﬂﬁi’
i i) b+ B ot oS

|




/5 -[ r&fnécaexyé she sme o5 FE;,,__ 5/3

cos@ SN = I

& = | _¢os® cocdh E}

Fe] - ems i Ry

—

) 1’*'-‘-5(;&'

=2 : E‘afﬂgﬁ (’E-r“ﬁiqf’ —CGEEC#:) + = 3 =14 3&# o B ..’..:J.Et?l{. Eﬂ-'lz?{?

f:r — S
+ s f.ﬂ&ﬂ-(ﬂariiﬁ r_ﬂ,g?c;(: — :’ﬂj‘e)

3 1 T
= = rlaJ-,qu cas ms_:’é {*E,rrj?qf; - .:’.;351‘:;5) Lo BmE LU :;,”q?é

@ cosgh

5 2 p
stoprl Sr'hﬁ'(aaﬂze cpk ?_‘5 R 3. L E})

= e y—15ir11&(5m3¢= - cu31q£=)57h qg
41 —

2
,r,_,ﬂ- ﬁ-’-ﬂ'lﬁ- =0 ;;é. cok ?{. cos @
_|_

ﬂlf‘w"}lff/[« LA L~ ?Ll,":'l._x. F’f? WAL~ _,E r’._r.-mfﬂfm ewla ujc

c'_cefap. lnater.

Veetov = Lan, thfriﬂak



I=
N
I

[ pstus) cassh bR cent wmh]

= | pretr) st €08 7

{.I[r’i ﬂ)-l—ﬁ.}“ ]-—ll

o
—

y(zt+i) - m

6/



-. B YEJ—WE oS o5 0 cos o —+‘-~ZI"-*1‘i"§'d-I B?j
By 17 |eme smét cos® S ces ¢
Ba
J_Bi L cos @ —gime o J B4
2 ¥ L
_B = 2y &ind 1-5‘51?5 Siné -’_G.EI;‘: -+ F ol g Lr:uﬁf}f:r — 5IF (F{"
x
= ;.;"L-I.-_::I" i, i z ( )
+}4i :
m \f #° (Fzﬂf).!x tay {xey’
S €2 5 JK ty 'ffl
=S e R
T gl A
SR J;H‘@"'W *%) ¢ S )
A o
-‘dq < v | [,._W.- rgfur_e_u{uff. = -Lﬂ GECHS



